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3| 00095 1(8.2 7 0.5(0.38|0.26| 0.5 |0, 88 0.87 | 1,16 | 1.863
4] ooogs | 2]4.3 9 | 3w.s/0.7]0.6]0.4]|0.8]|1.1 2.02 | 2.7 | 3.79
5 | ppog7 | 36.3 % "°[ 10 0.8 |0.63/0.45(0.8(1.43| 0.1 [ 4,09 | 6.47 | 7.67
6 | opogs | 4 | 6.4 12| , 1 |o.79]/o0.68] 1 [1.79 6.97 | 8.27 | 13
8 | 00099 |6 (8.4 16 | ®2|1.2/0.92{0.64| 1.6 |2. 42 16.9 | 22.6 | 31.6
10| gotog | 6 [10.6 21 1.6 1.1]0.77] 2 |3.1 33,4 | 44.5 | 62.6
12| 00101 |7 (12.8] 52| 23 | 8.2s|1.8(1.4| 1 |2.2|3.6 68.3 | 77.6 | 109
14]| go102 |8 |15 | ° |27 2 [1.6[1.1]26] 4 |  1627] 124 | 174
16| po103 |9 | 17 29 2.3(1.8|1.3|2.8] 4.6 146 | 194 | 271
18] go104 [10] 19 33 2.6/1.9]1.36/3.1] & 199 | 266 | 373
20| go1os |11 [21.5 36 | 3s| 3 [2.37]1.74] 3.3[6.67 282 | 376 | 629
22| po106 [12[23.6|+.25| 38 3.6 |2.84|2. 17| 3.6 |6.34 384 | 611 | 720
24| pp107 |13]2s.5 43 4 [3.26| 2.6| 4 |7.26)| | 488 | 660 | 916
27| oo1os |14/ 28 49 | , [4.5[3.84/2.79| 4.5 [8.14 713 | 961 |1, 340
30| po1pg [15]32 |*92?]| 66| ™%®| 5 |4.04/3.08] 6 |9.04 871 |[1,290 1,820
33| go110 [16] 36 59 6.6 |4.47]3.44| 5.5 [9, 97 1,320 | 1, 760 | 2, 470
36| go111 |17] 38 66 6 (4.87(3.73| 6 [10.87 1,690 | 2, 260 | 3, 180
39| o112 |18] 41 | 0°| 71 | 85 |6.6|6.26/4.02|6.6 t1. 76 4 [2, 180 | 2, 920 | 4, 110
42| pp113 [19] 44 77 7 |6.668[4.31] 7 [12.66 2,710 | 3, 610 | 5, 080
45| go114 |20] 47 83 7.6|6.06| 4.6 | 7.6 |13. 65 3, 400 | 4, 540 | 6, 370
48] 00115 |21) 51 89 8 |6.45/4.89] 8 |14, 45 4, 060 | 5, 440 | 7, 620
62| go11e |22| 56 ) g [7.32]6.66] 9 [16.32 5, 290 | 7, 040 | 9, 880
66| go117 (23| 69 | 0% [100| § | o [7.26]6.61] 10 17.26/ '+ |6, 660 | 8, 710 |12, 300
60| go118 (24| e4 108 10 [8.11[6.23] 11 [19. 11 8, 180 |10, 90015, 300
64| po119 |25/ 68 114 10 [8.01]6.02] 12 [20.01 9, 890 [13, 100]18, 6500
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kgf - cm N-m Ibf - in
NVO DHifiL kgf + m N-cm Ibf - ft
gf-cm kKN - m ozf - in
1kgf - m = 100kgf - cm IN-m = 100N - cm 1Ibf - ft = 12Ibf - in
E—H{IRDBRE 1kgf - cm = 1,000gf - cm 1kN - m = 1,000N - m 1Ibf « in = 160zf - in
1kgf - cm = 10kgf - mm
1kfg - cm = 0.09807N - m IN - m = 10.20kgf - cm 1lbf « in = 1.152kgf - cm
1kfg - cm = 0.8680Ibf - in IN - m = 8.851Ibf - in 1lbf +in = 0.1130N - m
f3RFIE KIR DIRE
1kgf - cm = 0.07233Ibf - ft 1IN - m = 0.7376Ibf - ft 1lbf - ft = 13.83kgf - cm
1Ibf - ft = 1.356N - m
1kgf = 9.807N 1N = 0.1020kgf 1Ibf = 0.4536kgf
palo):ivs 1kgf = 2.205Ibf 1IN = 0.2248lIbf 11bf = 4.448N
(11bf = 160zf)
1cm = 0.3937in 1m = 3.281ft lin = 2.540cm
REOH({I 1ft = 0.3048m
(1ft = 12in)

lin = 2.540cm

1ft = 30.48cm

1Ibf = 0.4536kgf

lin - Ibs = 1,152kgf - cm
1ft - Ibs = 13.83kgf - cm

1kgf - cm = 0.8680in - Ibs
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3| 00095 | 1[3.2(3.26(3.156 12. 19| 7 0.6/0.38{0.26| 0.5 | 0. 88

4| 00096 | 2]4.3[4.4]|4.2 16.78| o |8 15/0.7|0.6|0.4|0.6] 1.1

5| 00097 [3(5.3|6.4|6.2|409 05/ 6.5 | 10 0.8)0.63|0,45| 0.8 |1.43 |10, 1
6 | 00098 | 4 | 6.4 |6.63|6,27 17.9 | 12 +8 1 |0.79]/0.68| 1 [1.79

8 | 00099 |5 |8.4|8.67]8.23 21 [ 16 |70.2] 1 2(0.92|0.64] 1.6 2. 42

10| po100 | 6 |10.5(10.7[10.3 27.26| 21 1.6 1.1]0.77| 2 | 3.1

12| ooto1 |7 |12.6(12.9]12.3 29.6 | 23 ‘_”8,25 1.8(1.4| 1t |2.2] 3.8

14] oo102 |8 | 16 [15.3[14.7|* 2 [@6.1 | 27 1.6 | 1.1]2.6] 4 |10 15
16| po103 |9 | 17 [17.8[16.7 37.04| 29 2.3(1.8]1.3[2.8| 4.6

18| pg104 [10] 19 [19.4[18.8 43,37| 33 2.6(1.9/1.36/3.1| &

20| goios |11 21.6[21.9]21.1 48.67| 36 |*J 5| 3 [2.37]1.74[3.3]6.67

22| 00106 |12)23.6| 24 | 23 |,q. 3| 5! 38 3.612.84|2.17| 8.6 | 6.34

24| po1o7 |13]26.5(26.1(24.9 67.16| 43 4 |3.26/2.6| 4 |7.26

27| po1os |14] 28 |29.7|28.3 86 | 49 +9 | 4-0[0.64[2.78 4.6 8. 14 30.2
30| po1og |15( 32 [32.7[31.3 74.86| 66 |"0-35] 5 [4.04[3.08] 5 [9.04

33| go110 |16 35 [36.8(34.2 78.26 | 59 6.5[4.47[3.44[6.6[ 9. 97

36| go111 |17] 38 [38.9(37.1 87.1 | 66 8 |4.87|3.73] 6 [10.87| . ,
39| po112 [18] 41 [41.9[40.1]#0.6 [95.93] 71 |*J ¢ [6.6(6.26/4.02|6.6 |11.76 3.3
42| o113 [19] 44 | 45 [42.8 104. 79| 77 7 |6.66]4.31] 7 [12.66

45| po114 |20| 47 [48.1[46.9 113, 69| 83 7.6 [6.06| 4.6 | 7.6 [13.66

48| po115 |21 61 |62.1]49. 9 122, 78| 89 8 |6.45/4.89] 8 [14.45

62| po11e |22]| 66 |66.3(63.7 126.6 | 96 9 [7.32|6.86| 9 [16.32

66| o117 |23] 69 |60.4]67.6| +1 |[123.41] 100 | *§ [ @ [7.26|6.51] 10 |17.25/°0: 58
60| got118 |24] 64 [e5.9|62.6 130.8 | 108 10 |8.11]6.23] 11 [19.11

64| go119 |25| 68 |69.6(66. 4 133, 44| 114 10 |8.01|6,02]| 12 |20.01
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